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Annual result

9088

Estimated Still Residue

(Use this to check the total for each method of still cleaning 

against your waste collection notes, adjust the final months 

figure as necessary to correspond)

a b

Unit L, Sawtry Business Park, Sawtry, Cambridgeshire, PE28 5GQ

Month and Year

Monthly weight of work processed Monthly weight of solvent used
Monthly solvent emitted per kg 

of work processed

(kg)

September 2011 1630 23.20 22.0

(litres)

August 2011 1387 10.00 24.0

(kg)

November 2011 1313 12.16 16.0

October 2011 1308 17.60 13.0

January 2012 1307 14.70 25.5

December 2011 1770 14.70 25.5

March 2012 1585 8.90 23.5

February 2012 1293 14.70 10.8

May 2012 1272 12.00 17.0

April 2012 1311 12.80 20.5

246.8

July 2012 1425 15.30 23.0

June 2012 1623 25.70 26.0

n = Total b

Annual Spot Cleaning Correction 

Factor (see Note 1):
Total annual weight of solvent used

Annual totals 17224 181.76

Annual total of solvent emitted per kg of 

work processed

m
p q

= Total b + m = p × 1000 ÷ n

Weight of work required to comply 

with regulations (kg):
Complies with Regulations? YES

(kg) (kg) (g/kg)

0 181.76 10.55


